~ S

I\

L&

20195 7A148 (B) -158(f)

&3 BEMITNISFT

a=F7 FL—NY—X FyxoEFA v EAXRIOVY REXKE

12~ 18X TFDH. 108 11EBFOH. S - 98 BLXDH K£1HB(148) mER

V108 - 115 B F D (5,801 —FK, /8—72)

<ADVRBA—L>

V15~ 18R EXFDEP (6,235 —K, /8—72)

JIE 52 K4 PE/FEH 0 I 1R
1 |#L W& @ [*E 36 35 71
2 |BEX BR @ [E=4B 34 38 72
3 [BR # Q |HER 39 35 74
4 |BE% &R Q |RBE 40 37 77
5 |Z@ K @ |EmAB 38 40 78
5 |[#@ERtEH, ® [E=4B 40 38 78
7 |E8 ¥ D |TER 42 43 85
8 |HE KR Q [#HEINE 41 47 88
9 |[XH # D |TER 49 50 99

V12~ 14R T FDEP (6,235 —K, /8—72)

JIE 52 K4 SE/FEH 0 I 1R
1 |EH® BER Q |[EE 37 39 76
2 |B¥ I @ |RBE 37 40 77
3 [EE B (ORE 3¢ 40 38 78
3 |EE EF D | RBE 39 39 78
3 &% BER @ |EEBR 38 40 78
6 |FEUOLY Q |EHE 43 39 82
7 [EBIEE Q |HEER 43 41 84
7 |AFE B @ |dtisE 41 43 84
9 |KE # Q |TER 41 45 86
9 |znO Z= ® [E=4B 43 43 86
10 |AA & Q |HER 42 45 87
11 | &%HF D | RBE 44 44 88
12 [B8 sk ORS¢ 44 48 92
12 |&5%H IMNE D |BER 44 48 92
12 |8R% Q | ZBE 45 47 92
15 |ZREEEF D | RBE 46 47 93
16 |5 #4 D |BHER 48 46 94
17 |HBEFE D |[HAE 46 49 95
18 |HiE #HE Q@ |mENE 47 49 96
19 & HE Q@ |[E=4B 51 48 99
19 | EBEX [ORE 38 49 50 99
21 |BE D |EHE 48 54 | 102

JIE L K4 S /FEH 0 I 1R

1 [8BA &5 X~ @ |TER 40 37 77
2 |#MHE FEX X @ |BER 37 41 78
3 |&E E ® |EFE 39 41 80
4 |BH WS ® [FBE 38 44 82
4 [Fk =m; ® |BHEE 43 39 82
6 | FE ® |FER 41 42 83
6 [&1 =& ® |EFTAD 41 42 83
8 |&EEE EA ® [E=4B 44 40 84
8 [WAX mx#E ® |RBE 40 44 84
8 |SRIFEZN ® [BEE 42 42 84
11 |l K& ® |ETAB 44 41 85
12 |MAREEARR ® [E=4B 40 47 87
13 |l B8 ® |EFTAB 42 46 88
14 |5 61— ® |[HAE 40 49 89
15 |@lL K ® |[EEE 40 50 90
15 [KB BX ® |[HAE 45 45 90
17 |FHRINEBEE ® |ETAB 45 47 92
18 [&X £ (CREEINN 45 48 93
19 |ER 1518 ® |TER 48 47 95
20 |&ABEAKH ® [BEE 45 51 96
21 | I5EE ® |REBE 50 49 99
22 |K#t B3} ® [T%EE 52 51 103

YKl LGP M) —

V8% 9 BFDER (4,722 —F, /3—172)

JIE 2 K% S /FEH 0 I 1R
1 | KRARKE @ |TER 40 40 80
2 |E BE @ |BER 42 40 82
3 [NAKRNF @ |EFTAB 39 45 84
4 | & Q |ZRWE 47 38 85
5 |/hE BE @ |TER 47 41 88
6 |#E HX Q |EHE 47 45 92
6 |MARZRE @ |EFTAB 42 50 92

V8% 9RMEFDER (4,722 —F, /3—72)

JIE 52 K4 P /FEH 0 I 1R
1 88K HL @ |TER 38 38 76
2 |tk BBt @ [E=AB 44 41 85
3 IR * Q |EHE 44 44 88
4 @A EE Q |EHE 47 52 99
5 (WO B @ |[mE)Ng 50 50 | 100
5 |FEFHCH Q |BER 52 48 100
I EZ S @ |EHE 49 57 | 106
8 |&EABEBE (ORES=L: 54 58 | 112
9 |FH EME @ |EFTAD 54 60 | 114




